B



® 8

@ 24:21

B 7:9

: 8

ONy

@ 8



AAZF 177 10200 94U TE BA 479 gholl thst AA 739
Zkol vl 5 ZhtslA YehfAl L.

@D 7-4 @ 3-4 B 4-7 @ 7-3 B 174



& A4 7k e AR BRAFY G2 Weld] ga 0 Hel o]
2 7V 70 A40] B2 L 212 ol AU

4em
@b
@ ©
@ > —
“9em”” “11lem-”
® 9:11 @ 45:75 ® 9:15

@ 16:9 ® 5:3



&=,y Aolo] BAZ Aoz e . y 7h x of Aule
e A 2% 1249 (270)

@© EHO Zoj7t xem , =017} yem § AR 9] Hol=
50 cm? Yot

@ 80km 9] AZE EAT £ o2 x A7 T RS 19
%9y

@ st HO] Zo)7} xem ¢ A E 2 &9 yem

®
—
=
2
(8]
o
(e}
o
_O'L
rr
re
el
=
=
EC)
I
N,
<
fo

©
re
=}
<
>
u
It
(@)
o,
=2
-,
=
=
)
v
4r
2
N
rg
[\)
)
N,
ol
jil)d
L
4



< % y7bxol BHlEols A& BF 2L,

©

rek

® ©@ ©

o] 7]
o},
10] 3000 ¢ 5t 34 & Ae] 717o] y YYuic,

10km o AZE A% xkm 2 D 0, B A2 y AU

0]
H
X

rﬂ_\:

7t=9] 71017]')CCHI, M2 9] Z—_-_1017]'ycm o] A A}zkg o]
Hol= 12ecm? Yyt
A& 3km 2 x A7 St 2 AglE yem YU



A9 215 xem & L5 yem ] A

E209] Zo]7t 16em &1 A 9] 7F2 9] o] xem 2F
AM=9] o] yem 9] A

Bol7F 20ecm? Q1 A2 2] ©Hl 2] Zo] xem €t =0] yem 9
A

100 km HolH F-& 71 o AEA10] Wz 7] xan o} A
A7y A 7FO] A



8. yixol wElestn x =3 w y =8Pk x =6 W,y I
Xe T2,

@D 16 @ 3 3 5 @ 2 B 4



9. yExol S L x=52 0, y=6YYUct y=3< o, x g
e A Q.

D 49 ® 33 3 10 @ 929 B 45



10. The EoA y = x of BT x 9y Ae]o] A 4T @
2 A2 734 o

® xxy=2,1 @ xxy=4,2 ® xxy=6,1

@ xxy=8, 4 ® xxy=10, 5



11. %27} 361 95Utk 1% 2.2 9s)7h npalw, Yujze do|o
sulollA] Ego] Lpiro] el th. @8]zt ulal Zx0} Au]z} upal
ZAL ™ 012 7+t 1EHA] Q.

- X —

w

1 1
@ 241, 05L @ 5L, gL ©) 15L, 02L

@ 24L, 06L ® 1L, 05L



N
N
Hl
N
L
=~
o
B
>
il
N
o
3
=
ro,
N
>,
N
oflh
u!
oS
1o
M
o
30,
>
i
=
)

13
@D 13.25m? ©) 13% m? ® 14.36 m?
2
@ 143’ m? ® 14.58 m?






=2

=z
==

7

o
RE A S-AH, HA <

= Aar] o2 a3, 2] 9] 0.7

b~

T
ap
<A

M

i



™ <t

—1
T

Ul

gyt of

al

m ©] 277} 1.8 kgole}

<t O
rJ

_X_.:

__OL

J

T

—

15. #717F ¢

® 2m ® 3m @ 4m B 5m

D 1m



